


Expression:4.6

Here should be $\Theta{n^{log_{b}{a}}}$

















When n tends to infinity:

    - because f(n) is $\Omega(n^{log_{b}{a + \epsilon}})$, i.e. $f(n)$ is at least 
       n^{log_{b}{a + \epsilon}}

    - we will have two expressions:
    
        - $\Theta(n^{\log_{b}{a}})$ and…

        - $\Omega(n^{log_{b}{a + \epsilon}})$

    - Notice that $n^{log_{b}{a + \epsilon}}$ dominates over $n^{\log_{b}{a}}$ when n tends
      to infinity.

    - This means that overall complexity is $\Theta( f(n) )$












